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At this point we've seen many undecidable

problems where the problem is about some

property of LCM
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Are there any interesting decision problems

about properties of CE languages which are

decidable No Undecidability is the rule



Impossibility is everywhere
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M On input w
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OR Trivially true
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trivially false
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Trivially true because LCM is CE

by definition

Then Rice's thin Ʃ Every non

trivial property of CE languages is
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Since 2 is CE a TM K which
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Who cares

1 Can use Rice's thin to show

undecidability How
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M On input w LMP PRED
1 Rejects
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By Rice's thin EMPTY is undecidable
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6 I is undecidableNext
Tuesday PCP last 10 mins

To talk about final


